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Applied Behavior Analysis 

Chapter 1 – Test Bank  
Multiple Choice Questions 
1.   Overt behaviors can be of two types, verbal and:    
a) trait
b) motor 
c) covert 
d) events
e) none of the above

      Ans.  b (page 2)
2.  The dominant factor in the development of almost all human behaviors is: 

      a) maturation 
b) reflexes 
c) heredity
d) experience
e) none of the above

      Ans. d (page 4) 

3.   Operant conditioning is the learning process by which behavior changes because of its:

      a) consequences
b) behavior analysis 
c) durability 
d) cognition 
e) none of the above

      Ans. a (page 6)
4.   A durable change in behavior as a result of experience is known as:   

a) reinforcement 
b) conditioning 
c) process
d) learning 
e) none of the above

      Ans. d (page 4)

5.  Respondent conditioning is a learning process in which a stimulus:

      a) does not elicit a response
b) elicits a response through repeated association with a stimulus that produces   

    various responses
c) elicits a response through repeated association with a stimulus that already 
    produces that  response 
d) elicits a behavior change because of its consequences
e) none of the above

     Ans.  c (page 5)
6.  The field of practice of applied behavior analysis primarily focuses on _________ to 
     understand and improve socially significant behavior. 

a) classical conditioning 
b) operant conditioning 
c) Analyst Certification 
d) modeling 
e) none of the above

      Ans. b (page 11) 
7.   Cognition refers to: 
a)  motor behaviors
b)  covert behaviors
c)  observable behaviors
d)  heredity
e)  none of the above

      Ans.  b (page 11) 
8.   Behavior analysts focus on pragmatic methods to change a targeted behavior.  Which of the 

      following is a component of a behavior change intervention: 
a)  motor skills
b)  define underlying forces
c)  able to measure the behavior  
d)  durability
e)  none of the above

      Ans.  d (page 13) 
9.   In operant conditioning, _________ is a consequence following a behavior that strengthens 

      that behavior causing performance of the behavior to increase.  

a)  reinforcement

b)  punishment 
c)  antecedent 

d)  modeling 
e)  none of the above

      Ans.  a (page 6) 

10. The behaviors that are the main focus of applied behavior analysis are: 

      a) outcomes
b) antecedent 
c) overt 
d) stimulus
e) none of the above

      Ans. c (page 2)
11.  In operant conditioning, _________ is a consequence following a behavior that leads to a 

      decrease in performance of that behavior.  

a)  reinforcement

b)  punishment 
c)  antecedent 

d)  modeling
e)  none of the above

      Ans.  b (page 7) 
Essay Questions
1. In the text, when discussing respondent and operant conditioning the author states, “Although the two types of conditioning are to some extent separate and different, they almost always happen together in real life”.  Describe in detail two real-life examples of how the two types of conditioning can occur together.  (page 8-9)
2. Define the psychoanalytic theory of Sigmund Freud and the methods by which the theory proposes to change a person’s problem behaviors.   Beginning in the early 1900’s, behaviorism theory gained prominence based upon three lines of scientific research. Name the three researchers and describe their contribution to behaviorism.  (page 14-15)
